MATH
REVIEW PACKET

FOR

7™ o 8™ GRADE

While summertime is a time for relaxation and less structure it is also a time
to refresh, review, and enrich. This file contains several review concepts
and skills that are essential for success in both grade level and advanced
math classes next year. You will need to print this file.

This packet is broken into two sections: Part 1 and Part 2. Part 1 must be
completed by all students regardless of their math placement. Part 2 must
be completed by all advanced math students, and anyone desiring to have
the opportunity to join the advanced math class.

Calculators should not be used unless working with percent concepts. All
work should be shown and easy to read, with answers clearly identified.

These packets will be collected by the math teachers at the end of the
first week of school.

Studies show that an hour a week is all that it takes to strengthen math
skills and say goodbye to summer learning loss. Mathematical foundational
skills are essential no matter what math class you are in.



Part 1



Find the sum or difference.

L 80+ 77 2. 77 + 160 3. 6l +(-33) oM - (92)
5. =05 - (-122) 6. BS-(-I5W) 7. -53-(59) 8. -6 +(-35)
9. 15-(26)-(39) 0. 93 + {1 +(-179) LB+ (-34) ¢ 52 . 50-(93) + (-17)
Find the product or quotient.
3. 60+ 12 4. -1+ (-2) 5. 88 - (-2) 6. -12- 10
7. -0 ¢1D B. 90 + (-6) 43 (59 20. -7 (2)
2| 28 - (22) + (-88) 00, 56 140 + (-80) 03, 108 + (-12) - (-12) ou. -8l - (-17)+ U2

(Be sure to Use the order of operations)

Evaluate the numerical expression.
28, U3 £ (-23)- (-57)

26. 65 + 6+ (-3} + 40 27. 94 - (84 - 10)

25, 78 + (-2) - (-56)

29, -5- (1) +5- () 30 26-(64) +(B) 31 -8l + U+ (-20) 30, 56 + (50} + (10} (9



product, or auotient.
25, 071+ 92

Find the sum, diff erence,
34 1755 - 123

33. 386! + 3684 36, 3.2+ 04

39, 176 1.3 1o, & (-16.7)

37. 365! - (-1263) 38, -39 +(76)

41 28174 - 527 2. -2.1+ 378 43, 6.15 + (-82) W 28 (4es)

Find the sum, diff erence, Pro
4o, 18 Wao- 72

duct, or duotient.
47 2 Yy 145

s, 5+ 15 Yy ug. 32+ 13

g, 3 Y%3-5 Y 50, 50 (1%s) 51 U 2+ (1) 52. - g + (-2 Ye)
55. -5 25 (2 %) 56. -5 3y - {37

53. 9+ (1 ¥2) sS4, -8 + 315



Solving Egquations

Soing One-Step Fquations -
ide of the equation as the variable by using the

Cancel out, the number on the same $
Be sure to do the same

inverse operation. (Addition/SUbtr‘action; Multiplication/Division).
thing to both sides of the equation

ex 6x=-8 — X:I—? —>  answer:
ex y+23=9 — g+j\:;>=u9 — answer:
-2

23

ex: %:4 — \3'\%54 '3 — onswer:
ex w-B3=5 — W'lg=-5 — answer:
B +1B

Solving Two-Step Equations
Undo operations usihg inverse operations one dat & time using the order of operations i
reverse. (le: undo additiorvsubtraction before undoing multiplication/division)

ox TX-4=32 — 7X_&:_3§ — %\Laz&—% clnswer:
t % 7

ex:%+l3=|5 — %Jr_ll%:*l% —9\5%\:2'5 — answer:

ex:bifBT:-Q —94%;=-2'3 — b+¥:-6 — Gnswer:
T 7




Solve the one-step equation.

57. 19+ j=-34 58. M- 26=13 59, 23-3 60, [2f =216
g6l g-(30)=-7 62. t_; -3 63 b+{3)=19 el thw =-280
"""""""" S o|vethetwostepequotion
65. om-3=27 66‘7%:‘3 67. 4+3r=-=0 68. 2p- =7
g0 L2-2 70 L- ()= 71 -15-2=5 72. 8+ M =2
73, -lB-3hv=3 o, S0 25 35m +075=-625 76 24y+3=1



Proportions and Percent

" Solving Proportions

Set cross-products equal to each other and then solve the one-step equation for the gven

variable.

ex: %z% —> s5-0=lb —%_@Qf\iv—% onswer:
m

Solving Percent Problems with PﬁOpOrtith

4+ part
Set up and solve a proportion as folows: =3 Fj

ex: 25 is what percent of 5007 — Tg-O:"S%(% —  answer:x :

ex: What is [5# of 867 ——% %=§5 —9 answer: X = @

ex 1818 30# of what number? ——% 0B —% answer: X =
100~ x

Solving Percent Problems with Equations

e question to an equation and then solve. (Be sureto convert percents to

+  Translate th
decimals or fractions,)

ex: 201 40+ of what number? — 20=08x — answer: X =
ex: & Is what percent of 327 —% & = 32X —9 x =025 —% answer:
ex. What is 25+ of 887 ——% x=025-8b ——% answer: X = @

Real-World Percent Problems
(This is just ohe way of many to solve reatworid percent problems)

Tax: Find the amount of taxusing d proportion or equation. Then add the tax to the

omgml amount to find the total cost.

e discount using a proportion or equation. Then subtract

. Discount: Find the amount of th
e orignal price to find the sdle price.

the amount of discount from th




Solve the proportion,

h 20 S C 6 21 30 26
_ = T8 == -_ = —_——=
77, == o = 79. PR &0. J =
5 15 32 d 6 ) W 5
al —=— a2, —= - —= = —
k20 (2 W 83 7 g ot 60 200

86. 615 75% of what 87. U0 is what percent 88 What is 20% of 457

85. Find 5% of 85.
rumber? of 3207

89. 70 is what percent  90. Find 3339% of 8l g A $38 cameraison 92 Find the total price
of 3507 sdle for 20% off. of a $ k00 shirt

Find the sdle price. including the 7%
sales tax.



REVIEW: Rat_es | ' o Name

_ Key Concept and Vocabulary ——  Visual Model

4__.

) $12
Rate = ——
_ * 4 hotdogs
Unit Rate = ——>—— _
1 hotdog
. S

-Application Example

4. Janice was 44 inches tall when she was
8 years old. She was 52 inches tall when she
was 12 years old. What was her unit rate?

skiil Exémples

1. You drive 100 miles in 2 hours.
" Your unit rate is 50 miles per hour.

2. Youearn $40 in 5 hours.
" Yopur unit rate is $8 per hour. : : ; e B2
p : She grew 8 inches in 4 years: —= 7.

3. You save $240 in 6 months. - o
Your unit rate is $40 per month. «» Herunitratels 2 inches per year.

PR-AC'E'ECE makes PURR-FECT™

- - Check yo LI answers at RigldeasMath.com, we——
Write the unit rate in words and as a fraction for each situation. ‘ C

5. You fly 2000 miles in 4 hours.

| Words Fractiori
6. You pay-ls dollars for 3 pizzas.
' ‘Words ' Praction
7. Youpay $4 sales tax on a $50 purchase.
: Words Fraction
8. Youearn $25 for mowing 5lawns. )
Words _ , . Fraction

Circle the name of the person with the greater unit rate. .
John rides his bicycle 36 miles in 3 hours.

9, Maria saves $50 in 4 monﬂlé. : 10.
Ralph saves $60 in 5 months. . Randy rides his bicycle 30 miles in 2.5 hours.
11. Kim earns $400 for working 40 hours. ' 12. Arlene scores 450 points on 5 tests.
Sam earns $540 for working 45 hours. Jolene scores 180.points on 2 tests.
Convert the unit rate. . U v
13. 60 miles _ ':lfeet 14. 2 gallons _ cups

1 houx 1 second. 1 hour 1 minute

Copyright © Big Ideas Learning, LLC skiils Review Topic 18.2 73



REVIEW: Finding t,hé I,Perceht

Name - V

60% .

| of a Number
~ Key Concept and Vocabulary , :
o . o : visual Model
40% of 60 is 24. Finding a '
_ Write percent part. '
. 20% 100%

as decimal or | © 2o

y _
.0.4 X 60 = 24 | fraction and

20% 80%

24 60

2ygnmna LI
5 .
Skill Examples. - Application Example
1. 30%o0f50; . 0.3X50= 15 5. 28% of the 200 peb‘ple who answered
_ _ asurvey owna dog. How many of the
2. 45%o0f80: 0.45 X80 = 36 200 people in the sUEvey own a dog?
B 3. 110%of40: 11X 40 =4 © 0.28X200=56
4, 25% of240: 0.25 X 240 =60 5 56 of the 200 people own.a dog.

Find the pércent of the number.

6. 25% of 40 =
10. 33%% of 60 =
14. 1% of800 =

Write the question represented by

20% 60% 80%

0%

L]

36

18. 0%_

72

54

0 18

7. 20% of35 =
11, 95% of 400 =

15. 60% 0f 60 =

the model. Then answer the question.

100% 19. 0%

90

 Check your answers at BigldeasMath.comt. ——

8. 65%0f 110 = 9. 125% of 20 = |

13.

19, 200%0f31=_ 18% of 90 =

6. 100%0f 59 = 17. 1000% 0f59 =

20% 40% 60% 80% 100%

96

24 48 120

0 72

Question: ' L

Question:; ~ .
Answer: - Answer: ' : _

fa species of butterfly died due to
are left?

ECIES Sixty percento loss of habitat.

ENDANGERED SF
were 10,000 butterflies. How many

Originally, there

20.

at $1.10 each, and
ost of the 4 meals,

A hashbrowns

reakfast sandwiches at $2.59 each,
Pind the total ¢

SALES TAX Youbuy4b
4 bottles of orange juice at $1.25 each. The sales tax is 6%.
including sales tax. '

21.

~ Topic10.4

Copyright © Big Ideas Learning, LLC



REVIEW: Finding the Percent Name
of a Number

- Key Concept and Vocabulary M-w
40% of 60 is 24.

Visual Model

Finding a
part.

Write percent
as decimal or |-
fraction and |:
multiply.

0.4 X 60 =24

0% 20% 40% 60% 80% 100%

2 x60=24 3% 48 50
skill Examples Application Example
1. 30%o0f50: 0.3X50=15 5. 28% of the 200 people who answered
a survey own a dog. How mary of the
2. 45%0f80: 0.45 X 80 = 36 200 people in the survey own a dog?
3, 110% of40: 1.1 X 40 = 44 0.28 X 200 = 56
4. 25% 0f240: 0.25X 240 = 60 " . 56ofthe 200 people own 2 dog.

PRACTICE MAKES PURR-FECT",

Find the percent of the number.

Check your answers at BigldeasMat}i.cOmL. ===

6. 25% of 40 = 7. 20% of 35 = 8. 65% of 110 = 9. 125% of 20 =
10. 33%% of 60 = 11. 95% of 400 = 12. 200% of 31 = 13. 18% of 90 =
14. 1% of 800 = 15. 60% of 60 = 16. 100% of 59 = 17. 1000% of 59 =

Write the question represented by the model. Then answer the question.

20% 40%

18. 0% 20% 40%

Al
3

60% 80% 100% 19. 0%

60% 80% 100%

96 120

0 18 36 54 72 0 0 24 48 72
Question: Question:
Answer: Answer:

20. ENDANGERED SPECIES Sixty percent of a species of butterfly died due to loss of habitat.
Originally, there were 10,000 butterflies. How many are left?

21. SALES TAX You buy4 breakfast sandwiches at $2.59 each, 4 hashbrowns at $1.10 each, and
4 bottles of orange juice at $1.25 each. The sales tax is 6%. Find the total cost of the 4 meals,
including sales tax.

Copyright © Big ideas Learning, LLC Topic 10.4



REVIEW: Estimating and
Finding a Discount

A discount is a decrease in the
original price of an item. To find & '
the discount, write the percent A

as a decimal or fraction and ®
multiply it by the original price
of the item.

N

~ ey Concept and Vocabulary wﬁ

Application Examples

1. The original price of a book is $18.79.
The discount is 20%.

Fstimate: Round 18.79 to 20.
02x20=4

2. The estimate for the discount is $4.

Actual: 0.2 X 18.79 = 3.76

The actual discount is $3.76.
The sale price of the book is
$18.79 — $3.76 = $15.03.

Name o
Visua!l Model

0% 20% A% 60% 80% 100%

0 15 30 45 60 75

The sale price ofa $75 necklace with
4 60% discount is $75 — $45 = $30.

2. The original price ofa pair of in-line skates
is $209.99. The discount is 15%.
Estimate: Round 209.99 to 200.

0.15 X 200 = 30
The estimate for the discount is $30.

Actuak: 0.15 X 209.99 =~ 31.50

The actual discount is $31.50. The
sale price of the pair of in-line skates
is $209.99 — $31.50 = $178.49.

P RACTI CE MAKES P UR R- F E C Checle your answers ai BigldeasMaih.cot, s

Estimate the discount, Then find the actual discount and the sale price.

3. TRUMPET The original price of a trumpet is $319.29. The discount is 25%.

4. SHOES The original price of a pair of shoes is $47.99. The discount is 40%.

5. LAMP The original price of alamp is $17.09. The discount is 15%.

6. RING The original price of a ring is $96.75. The discount is 60%.

7. ELECTRONICS The original price of a home theater system is $243.89. The discount is 75%.

8. BASEBALL The original price ofa baseball glove is $26.99. The discount is 30%.

9. SEWING MACHINE The original price of a sewing machine is $182.96. The discount is 20%.

Copyright © Big ldeas Learning, LLC Topic 10.6



Geometry

+  Perimeter is the dstance around a polygon

. Creumference is the distance around a circle
. Areais the space inside d figure
. Volume Is the capacity of d 3-dimensiona figure

«  Surface Area s the sum of the areas of di the faces ona 3-dmensional figure

«  Permeter of Any Figure: sUm of side lengths
. Circumference = Tt - diameter

. Areaof Pardlelogram = base - height
+  Areaof Triange = 5'_ base - height

«  Area of Trapezoid = —21 heignt(base, + base,)

«  Aregof Circle=r1- radius?

. Volume of Rectangular Prism = length - width - height
«  Volume of Cuiinder =T radius? - height
. Surface Area of Rectangdiar Prism = 2 - length - width + 2 - length - height + 2 - height - width

. Surface Area of Cyinder =2 Tt radus? + 2 - 1 radis - height




Find the perimeter (or circumnference) and area. Use 3.14 for bl

i
!
|

9 cm
95, 6.
T
2. '.
5N 0Dm .
3N '
19 m
&n
Find the surface dred and volume.
97, 98,
3an
& cm
12N

8 cm

100,

9. '
3cm

[3 mm



1. Use the frequency distribution to find the average
number of movies watched by students during one
week. Round your answer to the nearest hundredth.

M ovEes
Watched ha Tally |Frequency
¥ eek

6 | 1
[ 0
4 18 3
3 ™ 8
2 TH | 6
1 i 2
0 1 3

d

3. Find the values of @ and b.

msa =

msh =

&§—

5 Michelle wants to listen to 5 compact discs. Two
compact discs are each 51 minutes long and the
other three compact discs are each 46 minutes
long. How many hours and minutes will it take
Michelle to listen to ail 5 compact discs?

4, Fill in the missing numbers.

16

T3

T 21

-~ =

5 Marcela was assigned some math problems for

homework. She answered half of them in study hall.

After school she completed seven more. If she still
has 11 problems to do, how many problems were
assigned?

6. Using the pattern in the chart below, how much
interest can someone €arn on a $200 deposit in a
savings account?

$40.00 | $60.00 | $80.00

$3.00 $4.50 $6.00

$100.00 | $120.00

Deposit

Intercst $1.50

7 What makes the set of integers different from the set | 8. Evaluate:
of whole numbers? 120 4+ 103 —
9. If a fly lands on one of the tiles of this floor, what is | 10. Complete the table and graph equation.

the probability that it will 1and on a shaded tile?

%

7

2x + 3y 12

|
y

X

-3

0




30 in.

45 in,

1. Fill in the blanks of the proportion to find 53% of | 2. Order the given set of numbers from least to
215. Then solve your proportion. greatest:
- 8, Jal, 9, /56, 65, 6
3. Find the volume of the given rectangular prism. 4. The side lengths of a particular triangle are 12, 16,

and 20. Is it a right triangle? Justify your response
by using the converse of the Pythagorean Theorem.

5 Each of the 12 central angles in the circle is 7
degrees. Find n.

Use the following information to create a bar graph.

Several cases of weather-related crop damage Were reported in
Virginia over the last 10 years. 205 cases were due to
excessive heat, 151 were the result of floods, 94 were
attributed to lightning, 87 were because of tornadoes, and 31
were due to hurricanes.

7. Find the value of V in the following equation.

VVVV = 256

When Corey added 4821 + 5416 + 4633 -+ 5221
on his calculator, he obtained the sum 15,386.
Without using a calculator, estimate the sum to see
whether his solution is reasonable.

G. Tell whether each given statement is true “always,”
«gometimes,” of “never.”

4. a rational number is an integer

b. an irrational number is a real number

c. a rational number is an irrational number

10.

profits, § —

Which graph below shows a consistent growth in
profits made from video rentals over 6 weeks?
b.) c.)

profits, $
|
profits, $

week # week # week #
Explain your choice.




1. Solve the equation for K:

2. Evaluate

52 + 6b - ¢
K + ‘—;1 = 8
ifa=35, b=6,and c =4
3. . €-’>0N€' 4. Triangle CAT is similar to triangle DOG.
IfCA =4, AT =6, and DO = 6, write and solve
50 o - | a proportion o find OG.
or - =

0 G

5 Use the area formula for a triangle to compute the
area of the triangle shown:

1
A=—bh
3 28

22

6. Find the mean, median, and mode of the set of
qumbers: 6,7, 11, 5, 8,7, 4,13, 11, 2.

7. Name the set or sets of umbers to which each of
the following real numbers belong (natural, whole,
integer, rational, irrational).

a) 12

b.) %

c.) J

3. Ifn = 7, evaluate:

1 + n?

9. What percent of the boxes have x's in them?

XX X XX
X1 X
XX X1 X
X X1 X

10. To print T-shirts you need to pay once for the
screen to be made and then a small fee for each
shirt printed. If you have $300, how many t-shirts
could you have printed? Show how you know.

WE PRINT

_nwe R
screen...$75
{ $2.50/shirt l




1. What is the ratio of 5 feet to 5 yards?(It is not 1. 1.)

2. The width of a newspaper is 13% inches. The left
margin is 7. inch and the right margin is 14 inch. What
16

is the width of the written page inside the margins?

3. 1If the measure of an angle is 50°, circle the
diagram that could be used to find its complement.
a. b.

k : o

The complement of a 50° angle is .

<+

4 24 oz. of soda cost $1.29. At that rate, how much
would you expect 30 oz, of soda to cost?

5 Shana carned the following scores On quizzes

.34 20 53
throughout the quarter: AO’ 55 AO’

Indicate which one of the three was her best score,
by converting them to percents.

6. Look for a pattern and complete the table using the

pattern. I M N i
T 3|
2 ] e
L3 9 |
L4 N
L N
0 | ]
e
00 |

Describe what you have to do (o the value of M (o
get its corresponding N value.

]

7 Draw a rectangle to show the product of 5 and
(x+ 4). Then write the product.

5x+ 4) =

8. The chart below shows how Dale has budgeted his
money based on a weekly salary from his job after

school.
Dale's Weekly Budget
Purpose | % of total | Amount
Food 25 $22.50
Savings 20 ?
Entertainment 15 $13.50
Clothes 40 7

a.) How much does Dale earn each week?
b.) How much of his weekly salary does Dale budget
for clothing?

9. Evaluate each expression.
a.) (3 X 5

) 3X5

10. Compare with < or >.




L.

Make a table of five ordered pairs that solve the
given equation. Use these ordered pairs to graph.

Indicate whether each statement is true or false:

The difference of two whole numbers must be

3 a.
y=2x-3 a whole number.
o b. The difference of two integers must be an
L_L_.Y_i integer.
1 J’ x | ¢. The quotient of two integers must be an
o 1 integer.
Lo
3. The population of North America is 27 8,000,000 4. Use the spinner below to find the probabilities listed.
people, and its area is 7,466,890 square miles. a) P(2) =
Which is a reasonable estimate for the population
density (the number of people per square mile) of b P(1) =

the continent: 370 people per square mile or 37
people per square mile? Explain.

¢) P(a negative number) =

I

d) P@) =

The formula for converting a temperature on the

Fahrenheit (F) scale to a temperature on the Celsius
(C) scale is: C = %(F —32) . Find the Celsius

temperature when the Fahrenheit temperature is 86
degrees.

A box was cut and folded to make the figure below.
Find:

2 in.

..........

a.) its volume. .
) olume 4 in.

b.) its surface area.

—

7. A triangle with vertices X(-1, 2), Y(2, 3). 7(3,-1) | 8. Ifyou could fold a piece of paper in half 10 times,
is translated by 2 units horizontally and -3 units how many pieces of paper thick would it be?
vertically. Write the coordinates of the new
triangle, X' Y' Z". goffolds | o112 | 3| 4. |10
Fof sheatsthick | 1 | 2 | 4 EREEN
9. Find the value of c. Indicate whether c is a rational | 10, Ifa = 25, find the value of b.
or irrational numberz.
b a

a and b are called angles.




1. fy=36,x= 25, w = 20, evaluate the
expression:
Sw

X

- (yt+w)

2. Féim@'@a/ B

_Z\i (ax+13) = 3%

3 Use the graph to answer the following questions.

Weekly Hours Worked

Gory B
@ sandra \EETITRIEII
o
© Andre §
(% Jase E

Angela

4. What is the mean number of hours worked by these
students ecach week?

‘What is the median number of hours?

What is the mode of this data?

What is the range of hours worked weekly?

4. Identify the x-intercept and the y-intercept on the
graph. A

Complete the table

XY
-2

-1
0
1

|\

| 2 2

wlpn e &

A mosquito lands on one of the squares in the
diagram shown. What is the probability that it
lands on a square containing:

1 2 3 4

a) aneven number? slel7]8

b) a multiple of 3? g ftof1112

13114115 18

¢) amultiple of 5?7

d) a multiple of both 3 and 57

6. At a certain time of day, a flagpole casts a shadow
.75 feet long. At the same time of day, a 6-foot-tall
person casts 2 shadow that is 1.75 feet long. How
tall is the flagpole? Draw a diagram of the two
objects and their shadows. Write a proportion 0
solve for the height of the flagpole.

7. Define the function for this table.

[ f oo

LI A

EL__.__'“_4
3 -3

=

f(x) =

[ ] =N

3. What percent of the figure below is shaded?

7/

F.

7

7

5.6

X

8.96

32

9. Solve for x:

10, Find the value of b and indicate whether itis a
rational or irrational number.

10.25 : ]2.25

b




@,9,392,9.0002

1. Evaluate: 5-3°+18+2 2 Bill works at a local restaurant, earning $300 per
week. Today he was told that he will be given a
raise of 10% starting next week. What will his new

weekly salary be?

3. The Maple Car Rental Company charges a flat fee | 4. Fill in the blanks below.

of $45, plus $1.00 per mile to rent a car. Use this
information to calculate the cost in the table.
1 2 3
, 4
miies cost
fraveled
25 a) £land £ __areapair of vertical angles.
gg by Zland £ ___ar€a pair of supplementary angles.
100
5. 6. Graph trapezoid BIRD with vertices B(1, 1), 1(2,4),
Eavori R(@6, 4, DT, V). Draw its reflection across the X
o avorite Pet . . .
S axis. Label its new coordinates.
[y
g 20
0 45 H
L]
3 5
T 0 O S A B 1,
Dog Cat Bird Other

a) How many students claim a cat as the favorite pet?

b) How many students were surveyed?

¢) What percent of those surveyed chose a bird as

their favorite pet?

7. Solve the equation, Show cach step and check the 8. Solve the equation. Show each step and check your |

solution: _;;_ =2 solution;  Tn-11 =73

9. Order the numbers from least to greatest: 10. Evaluate: 6 + (4037 -4




e wn kA ——————

2. Check all that apply:

1. Evaluate:
A LSV S LE | S | | e \_&*‘u‘;‘&f@j
2 3 2 3
—6
2.3
172
19
2
0
L
3. Evaluate 2x + 3y*ifx = -4andy = 5. 4. Cindy multiplied her age by 5, subtracted 12, and
then divided by 3. The result was 16. How old is
Cindy?
5. Complete the table and graph the linear function. 6. A jar contains 13 colored balls. 3 of the balls are -
y=2x-1 : red, 4 are white, 5 ar¢ blue, and 3 are orange. If
— you reach into the jar randomly and remove one
> y ball, what is the probability that its color will be:
¥ (Round to the nearest percent.)
X
0
1 a) white? b) either orange or red?
| 2
¢) green? d) anything but blue?
7. Name the property illustrated by each equation: 3. If it takes 8 hours to drive 435 miles, how many

a) 3(1000 - 1) = 3000 - 3

b)

c)

d)

(403)-7:4-(307)

8 +20=20+38

hours would you expect it would take to drive 650
miles if you travel at the same rate? (Round to
hundredths.)

9.

x+0=x

You are on the 8th grade dance committee and in
charge of purchasing the refreshments. Chips cost
79¢ a bag and sodas cost 99¢ a bottle. If you are
asked to buy 12 bags of chips and 25 sodas, and
you are given $35, calculate whether or not that
will be enough money. (Do not include sales tax.)




1. Rewrite the expression using an exponent.
a_)202.202.202.2:
blwewseswew =

c)ymen =

5. Nike stock began the day on Monday at a price of

3

7
132¢, and increased 2 g during the day. What is

the new price for the stock?

3. In 1990, Americans recycled a record 63.6% of the
aluminum cans produced. If 55 billion cans were
recycled, about how many were produced? Use a
proportion to solve.

4. Use the Pythagorean Theorem 10 find the value of x.

Then indicate whether X is rational or irrational.

12

5. Sl —1EX (3 -4.L) 10X

© Find the product: (4.5)(=3)(1000)(5.17){0)}=T7)

"7~ Which rectangle has the greater area? By how

many units?

18 A 36

B

L]

1.6

8. For the given circle:
a) find the area using A = .

(Use m~3.14 and round
to tenths.)

b) find the circumference using C = 7d.

9, Usec the data in the stem-and-leaf plot to find the:

0 8|4 = 84 j

ils a) mean.
2|2

313 b) wedian.

4135

51178

6l235888889 ¢) mode.
71100479

82448

9]34588

10.Solve: 3x+7 < -29




1. 64 people play ina singles tennis tournament. In
the first round the players pair off to play each
other. The winner of the pair advances to the next
round. The loser is climinated. Complete the
chart to see how many rounds it will take to
declare the one final champion of the tournament.

round #j 1 2
number of players| 64 32
number of winners | 32

3. Find the volume of a rectangular prism that is 5 cm
long, 3 cin wide, and 2 cm tall,

5. Draw a reflection of the figure across the dotted line.

1

C ]

4. Find the value of n.

22°

These angles are called angles.

5 Dyaluate the expression below. Then create
another problem using at least four nuinbers that
result in the same answer.

[9-(@-61-1

6. The circle graph shows the results of a middle school
survey. Find the number of students who preferred
each category if 300 students responded.

7. What pattern(s) do you notice in the table showing
the average family size in the United States?

1975 1980 1985 1990 1995 2000

Year

Family Size | 36 | 39 34 |33 {32 |34
If the average family size keeps changing at the
same rate, what would the family size be in the
year 2010?

8. Between which two consecutive whole numbers
does ~42 lie?

9, Graph the “nformation from the table on the
coordinate system:

Time Speed =
(seconds) (miles per hour) é 60
O 0 i 50
5 20 g ¥
10 45 5%
15 55 32
20 60 &0
- g s 1o 15 20 25

Time {Seconds)

10, Complete each pattern:

a) -3,-11,-19, 27,
b) 4, -8, 12, 16, s
c) 3,9, 27,8, ., - ——

d) 1, 3, 7, 15, 31, > e ) —




summer Math Packet

Part 2



REVIEW: Surface Areas of Cylinders  Name
Key Concept and Vocabulary ——
s __ / j visual Model

oty Net for a
T Circular Cylinder

L S=2mr?+2mrh

skill Example Application Example

2. Find the surface area of
the soup can.

27t
§=2715%+ 2155
— = 457+ 157
S=27+3* +2m 32 = 19.5min?
=187 + 127 N . ) )
2 A »>» The area is 19.57 square inches.
= 307 ft :

PRACTICE MAKES PURR-FECT",

e, Check yoity answers at BigldeasMath,com, s

Find the surface area of the circular cylinder.

3. Circular Cylinder 4. Circular Cylinder 5. Circular Cylinder

_12 cm

5omm

9. OILTANKER TRUCK The truck’s tank is a stainless steel
cylinder. How 1nany square feet of stainless steel are

needed to make the tank?

10. OIL TANKER TRUCK What percent of the stainless steel in Le’c‘igth = 52t
the tank is used to make the two ends? ___————— Radius = 4

Copyright © Big ldeas Learning, LLC Topic 12.3



REVIEW: Surface Areas of Name
pyramids and Cones

_ Key Concept and Vocabulary —

_ slant height ‘ Visual Nlodel :
Surface iateral faces

B Araa T

AN, S Net for a \ e

sfant height

* \late|'a1 faces

2. Findthe lateral surface area
of the square pyramid.

3:4(1-40-35)
2

Square
Pyramid

L S = Base Area + Lateral Area

skill Example Application Example

35m

g2ttt me2e4 — 2800 m*®

=12 in_.z .
12m The area1s
2800 square meters.

PRACTICE MAKES PURR-FECT 2

Find the surface area of the pyramid or cone.

Check your answers at BigldeasMath.comt, ====

3, Square Pyramid 4, Square pyramid 5. Square Pyramid

9. VOLCANO Find the latera) surface area of the volcano.
Use 3.14 for o Round your answer to the nearest

hundred square feet.
— , 2000 ft

10. VOLCANO Find the area of the circular region covered by
the base of the volcano. Use 3.14 for . Round your answer
to the nearest hundred square feet.

Copyright © Big |deas Learning, L.C t—————3500 ft———— Topic 12.




REVIEW: Surface Areas of Prisms Name

- Key Concepl and Vocabulary ——— _
Visual Model

Area .
Net for a Rectangular Prism
" \_ T

?
g =2fw+ 2£h+ 2wh
skill Example Application Example
1. T 2. Find the surface ared of the block.
3t 3:2(%-3-4)+4-5+3-4+4-4

=12+ 20+ 12+ 16

&
4 ft B ~ N
3—2(4'2)+2(4a3)+2(2-3) = 60 cm
=16 +24+12 The area is 60 cm?. Acm
= 52 ft*

PRACTICE MAKES PURR-FECT 4

Find the surface area of the prism.

3. Rectangular Prism 4. Rectangular Prism

2. Checlc your dnswers at BigldeasMath.cont, ===

g. Triangular Prism

5.7 mm

3 numn

p— S:

9. AQUARIUM How much glass is used to make
the four sides of the aquarium?
2f

10. AQUARIUM How much glass is used to make
the base of the aquarium?

Copyright © Big Ideas Learning, LLC 41t Topic 12.



REVIEW: Volumes of Pyramids
ey Concept and Vocabulary mpﬂ\

3
&

PRACTICE MAKES PURR-FECT,

Find the volume of the pyramid.

9. PYRAMID The pyramid has a volume of 2000 cubic feet.
Find a set of possible dimensions for the pyramid.

Copyright © Big |deas Learning, LLC

Name

Visual Model

The volume of a pyramid is
one-third the volume of the
prism that has the same
base and height.

Application gxample

2. Find the volume of
the square pyramid.

V:—l?;-(402) «30

30m

= 16,000 m®

The volume is 16,000 cubic meters.

Checlc your answers at BigIdeasMa.th.com. ezt




REVIEW: Volumes of Cylinders Name

- Key Concept and Vocabulary —

=) G

V=Bh
= ar‘h

Visual Model

Ifeach coin has a volume
of mr?, then h coins have 2
volume of

V = arh.

skill Example Application Example

1. I 2. How much soup i8
in the can?

ft Ve me152e5

~11.257in.?

V=me3 2
=1Bfrrft3

There are 11.257 cubic inches of soup.

PRACTICE makes PURR-FECT"

Find the volume of the circular cylinder.
3. Circular Cylinder 4. Circular Cylinder 5. Circular Cylinder

__smm 6 ft

2’ Checle your answers at BigldeasMath.com. ===

6. Circular Cylinder 7. Circular Cylinder
e T __9in.____

9. OiL TANKER TRUCK The truck’s tank is a stainless steel cylinder.
How much oil does the tank hold?

10. OIL TANKER TRUCK There are about 7.5 gallons
in 1 cubic foot. How many gallons of oil can

the tankhold? __————————— Length = 50
Radius = 4 ft

Copyright © Big ideas Learning, LLC



REVIEW: Volumes of Prisms Name

Visual viodel

Volume of a
Rectangular Prism

V=24 «3
— 24 units®

Key Concept and vocabulary —

(&)
h ur
m\qg

V= Bh
= fwh

Application Example
2. Find the volume of the block.

V= Bh
.2ft :(1.3.4)°5
2
y=5¢23 =30 cm?
= 30 ¢ 3

The volume is 30 cubic centimeters.

PRACTICE MAKES PURR-FECT",

Find the volume of the prism.

Checl your answers at BigIdeasMath.com. s

3. Rectangular Prism 4. Rectangular Prism 5. Rectangular Prism
S / e e ”ﬂg am _
10 ft
9
V=
V= Ve ————
6. Triangular Prism 7. Triangular Prism

/‘l
iy A om

- 6 ....... oy | [i w_w[:j : ] .

Vz________ V=

9. AQUARIUM How much water is needed to fill
the aquarium?

10. AQUARIUM There are about 7.5 gallons in
1 cubic foot. How many gallons of watet
does the aquarium hold? e

Copyright © Big |deas Learning, LLC Topic 1:






Calculating Percents

Percent of a number, percent C

hange. percent increase/decrease.

4) What is 75% of

1} What is 40% of
822

2) What is 110% of
95¢

3) What is 15.5% of
20¢

150¢

5)

Write two expressions that could be

used to find 80% of x.

6)

Write fwo expressions that could be

used fo find 105% of X.

7} A price INCredases
from $82 to
$89.38. What is
the percent
change?

8) A price
decreases from
$254 10 $213.36.
what is the
percent change?

9} The number of
students
increases from
640 to 768. What
is the percent
change?

10) A population
decreases from
14,500 to 12,035.
What is the
percent
change?

11) A dinher bill is
$45 and an 18%
tip is left. How
much is the 1ip?

12) A dinner bil is
$82 and G 15% tip
is left, How much
is the total cost?

13) There is a 7%
sales taxon d
$425 television.
How much is the
tax?

14) There is @ 22%
room taxon d
$199 hotel rate.
what is the total
cost of a room
for one night?

15)

Ken makes $400 a week before a 5%

raise, and then another 6% raise. what

is his weekly pay

noOwW?e

16) Amy bought a $750 couch. She used d
15% off coupon. Theré is 6% tax on the

discounted price.
paye

How much does she




Calculating Percents

Percent of a number. percent change,

percent increase/decredse.

1) What is 60% of
130%

2) What s 150% of

20%

3} What is 5.5% of
1402

4) What is 55% of
1802

used to find 22% of x.

5) Write two expressions that could be

6) Write two expressions that could be
used to find 130% of x.

7) A price increases
from $50 to $120.
what is the
percent change?

8) A price

decreases from
$575 to $488.75.
whatis the
percent change?

9) The number of
students
increases from
890 to 1,000.
what is the
percent change?

10) A population
decreases from
30,000 to 28,400.
What is the
percent change?

11) A dinner bill is
$105 and an 18%
tip is left. How
much is the 1ip?

12) A dinner bil is
$65 and a 15% 1ip
is left, How much

is the tofal cost?

13) There is a 6%
sales faxon @
$878 television.
How much is the
tax?

14} There is a
21.5% room fax
on a $299 hotel
rate. What is the
total cost of
room for one
night?

15) Kyle makes $600 a
raise, and then a 4%
weekly pay now?

week before a 6%

pay cut. What is his

used a 20%

does he pay?

on the discounted price.

16) Andrew bought a $1,050 couch. He
off coupon. There is 7% tax

How much




Using Formulas

solve using the given formulas. Round io the nearest hundredth.

T
Use the formula d = rt for questions 1-4.

ey

]

1) Alex travels 46 2} Ben just drove 3) Mia is griving at a | 4) Eric drives 62 mph
miles per hour for 426 miles in 6.4 constant speed for 5% hours. HOW
3.2 hours. How far hours. What was of 55 mph and far does he
has he gone? his average rate drives 236.5 miles. drive?

of speed? How long was
she driving?

Use the formulas %(F=

I B ey —

9 :
12)=C and gC+32:F for questions 5-8.

5) Convert 80°F O
Ceisius.

6) Convert 42.5°Fto | 7) Convert 12°C 10 8) Convert 27.75°C
Celsius. Fahrenheit. to Fahrenheit.

- I
Use the formula [ = Prt for questions 9-12.

-
9) You put $5,000 in
the bank for 4
years with d 1.2%
interest rate. How
much interest is
earned?

10) James earned $3,000 interest 11) Kyle puts $740 in the

on an invesiment that he put in bank for 5.5 years with a
the bank for 6 years with a 5% 214,% interest rate. How
interest rafe. How much was his much money does he
initial deposit? have in the bank all
together after 5.5

years?




Using Formulas

solve using the given formulas. Round to the nearest hundredth.

Use the formula d =t for questions 1-4.

3) Monica is driving
at a constant
speed of 63 mph
and drives 487.2
miles. How long
was she driving?

2) Brad just drove
325 miles in 4.5
hours. What was
his average rate
of speed?

1) Jake travels 60
miles per hour for
5.5 hours, How far
has he gone?

4} Evan drives 55
mph for 4%z hours.
How far does he
drive?

Use the formulas %(F—32)=C and %C+32=F for questions 5-8.

7) Converi 5.8°Cto

6) Convert 68.5°F to
Fahrenheit.

5) Convert 102°F to
Celsius.

Celsius.

8) Convert 32°C to
Fahrenheit.

Use the formula I = Prt for questions 9-12.

9) You put $8.500 in 10) Jon earned $480 interest on an
the bank for 2 investment that he put in the
years with a bank for 4 years with o 2%

11) Kim puts $875in the
bank for 3 years with a
3 14% interest rate. How

0.75% interest
rate. How much

interest is
earned?

initicl deposit?

interest rate. How much was his

much money does she
have in the bank all
together after 3 years?




Scale and Proportions

Round to the nearest tenth.
1) Find the nissing 2) Find the missing 3) Find the missing 4) Find the missing
value. value. ‘ value. value.
3 15 X 15 2 . X 12 _ 5
- 6 20 g 7 x 1
5) Determine the 6) Determine the 7) Defermine the 8) Determine the
missing side missing side missing side missing side
length. length. length. length.
Am 4m iom o2 Docou
G 3
i]* _ Z \
E 9 AN > 12 cm .
— . Q
3
15m
X X
9) Determine the 10} Determine the 11) Determine the 12) Determine the
missing side missing side missing side missing side
length. length. 8 fl. length. length.
+ VA B
| A N
m
9m o fi. 12 ft. . ~
G
oo X
- 3
X 12in.
13) Find the missing | 14) Find the missing 15) Find the missing | 16) Find the missing
value. vaiue. vaive. value,
35 10 x 13 1 x 5 2
2 15 6 15 x 1

6 b




Scale and Proportions

Round to the nearest tenth.

1) A model car has been made using a
scale factor of 1.5 inches : 3 feet. If the
actual caris 13.75 feet long, what is the

length of the model?

2} A model airplane has been made using
a scale factor of 4 inches : 6.5 feet. If
the model plane is 30 inches long, how

long is the actual airplane?

3) Determine the

missing side
length. X
&
3
9m
N
3

4) Determine the
missing side
length.

~ -
o = >

5) Determine the

missing side
length.
f=
~
10in.
>
16 in.

) Determine the
missing side
length.

G

+ 0/))

10 cm 45 cm

7} Find the missing
value,

8) Find the missing
value.

x 10
9 25

9) Find the missing
value.

10) Find the missing
value.

45 _13

X 6

11) A scale onamap is lin : 30 miles. How
far will you travel if the distance on

map is 8.75 inches?

12) The ratio of boys to girls in your class is
2+ 3. If there are 15 girls in your class,
‘how many boys are there?




Order of Operations

Simplify each expressio

n. Round fo the nearest hundredth.

1) 42+2(6) -8

2) 9+3+622+2

3) 20— 4(4) -2+ 6

4) 9-6+2(3+4)

5) -10 + 4(3 -8 +2?

6) 52+ 6(20 653 -4

7)12-32(8-4 5)

g) -10+3(12+6*-2)"

9) 22+ 9+8+0.4-6

10} 1.5 +2.3-075(4 * 2.6)

15— Lglera-z
2 2 3

2)

4

1m103+21-6l-3
4 5 8 5

135&42@%-&4-@

T
14%55+;H4)+&

15)&&5-2Pr18+2%




Order of Operations

pression. Round fo the nearest hundredth.

Simplify each ex
m19—8°2u1+9

1) 52-3(4) +5 9) 122+ 6+8¢3+2

4) 5-4+6(22+95) 5) -8-5(12-15) + 4 6) (22 + 85+ 2+ 2+

ﬂ10+&4-2—& 8)4—6@-2+8} ﬂ145°06+8+2+45

10) 162+ 0.8+ 12(2+6.3) 11)1ol+6(13-1ol)+6l 12184+ L (91-6)
2 4 2 5 2 2

1 1,1 1 1 1
2_ A [RI+ 4 = 2y — 4) - S+ (8- F g .2-—2._ 0 —
13) 22 - 65(3 2)-6 | 1437 2( 9 +3) 15) 49 2122 +57




Simplif ying Expressions

Simplify each expression.

[-15—4|e2 |-5+2|-3 -42-8) 3e—2|+6-9
12,4 2,11 L, 1.7 BENR
535 5 4 2 24 8 6 3 4
3-4(8-6) 12(8_10)+6 §—5+206+3 | —3(504)+12+6
s(x+2y)-2(x-3¥) | T 4(x=T)+x %(x—7)+4x-10 8(x-+4y)+ 3(4x+7)

%(x+10)+5x

—4.8(2—-82x)+ 6x—3

1 3
—{Ry+2x)——X
2(y ) n

_18x(3—4.6)—10x




Simplif ying Expressions

Simplify each expression.

|-1+8|e3 -10+-2|+8 |-20-8 |-9+2|-6+7
424t 2. 11 3.1 2 1,31
5 2 33 4 4 2 5 g 2 4
5-12(2-6) %(15—10)+4-15 4-15+209+3 —12-(5-6)+10+2
5

—4(x—3y)+2(x—4y)

— 4+2(x—3)=2x

-—%(8x—-4)+4x-—1

(2x-—7y)—2(8x—3y)

1 1
~(2x+12)——x
4( ) 2

7.8(2—02x)+ 1.5x

1
Z(9y—-6x)+—X
(9y—6x) 2

_8x(1.7—-2.3)—1.8x




Evaluating Expressions

Evaluate each expression.

3x—10+4 %+6x 8(x—Y) X+ Xy
ifx = if ::2, =6 ifx=3, =-2.5
ifxr=3 fem2 | ’
(2x)2+6 _3x+4y—3x _tox+ 3(8x—10)+5x
ifx=-2 ifx=2,y=4 x _ 1
if x=-2 1fx=5
x+8y—(x) (8x)?+6x+2 2x2+4y*+xy 8x+2y
fr=5,y=— ifx =3 ool g |Hxmley=TE
4 2
.S_(x_6)+4 3x —8x%+7 —2x*+8Yy (-5x)*—3x+X
2 if x = 4.5 ifx=3,y="9 ifx=—-3.5
ifx=28




Evaluating Expressions

Evaluate each expression.

3x—12+6 —z—+2x ~2Ax—Y) xy—Yy
1 =25 ifx:S’ = -8 ifx=8.5,y=—2
ifx=2 ifx=—18 Y
—4x)* - Sx+7y—2x 2
(Axy -2 T St 2 L ax+6)+3x
ifx=—4 ifx=25y=-4 x 2
ifx=-2 . 1
ifx=—-—
4
2x—4y+x* ~5(x)*+2x+4 —x24+2y*—Xxy —3x—35y
1 ifx=— ifx=72. =4,
lfx::))s’y:__ if x 5 1fx-——'—2,y:l ifx 25,y 5
2 2
§-(x—6)+2 x+ (4xy*—10 Axy+3y 5x2-3x—x
4 : .
if x=-2.5 ifx=-3,y=4 Al
if x =—14 1fx—25




Solving Equations

o the nearest tenth.

Solve each eqguation. Round t
3x+6=20
¥ 3 r6=5—> Tx+5=68 T isx=dds
16 8 8
2x—5=-23 Tx+6+x =062 6+3x—6x=-18 —6.5x+1=-29
3x—4(8x—6)=20 6x+7=—47 —6—5x=—41 4x—9—Tx=-12
3x—2—Tx=-22 —54=2x+7x+9 —1—(x-8)+4x=10 8(x+4)+3(—4x)=32
2
_A(2— = 5+3x—x=25 6x+4—7Tx=288
%(x+10)+5x=25 4(2-8.2x)=30 *7 AT




Solving Inequalities

Solve each inequality. Round 10 the nearest tenth. Graph #1 -6 on the number line.

6x—8<20 4x+ 5<-=-25
.20 U U T I T O I I I | Lt t >y 20 TN N N O O T | [N T TR T T O | [ I I N
D e T I B L  pt e A A M B B B Bt R R A L LB BRI -ttt /7
1
5x-4>——2 —A4+3x<-12+5x
VR W T T U IS N I T O | I I IR I N 2 I T O I 'S T T P Y T S [ T O I .S
T‘ i 5 1 T v 1t L[ A N I DR A | Y1 1 /7 T_‘ L L L UL | i i It L L B Tt 1 ) /

15-2x>21

AN

2x—2>-20+6 -2+4 —
* x | -2+4x>5x-3 %(16x+4)+4x<10 -2(2x—4)=-5=-10

—2(4x—-2)+6x2-12 54+3x<12x+5 —2x+4<20

%(6+9x)2-—10




Surface Area & Volume

Round fo the nearest hundredth. Use 3.1 4 for m.

1) Find the surface ared.

0
=
G

15.5yd.

2} Find the volume.

9cm

13.6 cm

~—

3) Find the volume.

7 in.

N

5in.

4) Find the surface areaq.

1.5 ft.

0y

—

5) Find the volume when
filed halfway.

4.5 cm

D

w20l

6) Find the volume of the
cube when filled 75%.

8.6 ft.

7} Nina is painting a bird
house. The bird house is
in the shape of a cube
and has an edge length
of 6.5 inches. How much
paint will Nina need?

8) Ryan has a pool in his
pbackyard. The pool
measures 52 feet long; 25
ieet wide, and 8.5 feet
deep. How much water

will fit in the pool?

9) How much gift wrap is
needed to cover a box
measuring 18 inches by
12 inches by 4 inches?

10) A cylindrical lava lamp
is 18 inches tall. The
radius of the lamp is 5.25
inches. How much liquid
is in the lamp?

11) What is the surface
area of a boxin the
shape of d rectangular
prism with d length of 8
inches, width of ¢ inches,
and height of 4 inchess

12) A soda can has d
diameter of 2.3 inches
and a height of 9.5
inches. What is the
volume?




Surface Area & Volume

Round to the nearest hundredth. Use 3.14 for m.

1) Find the surface areaq.

‘PAGY

12.6 yd.

2) Find the volume.

6.5 cm

9 cm

__—

3) Find the volume.

7.9in.

5.51n.

4) Find the surface area.

™ 16 .

W 70T

—

5) Find the volume when
filled halfway.

6.3 cm

I

wo 7Y

6) Find the volume of the
cube when filled 80%.

12.2 1.

7) Jayis painting a shoe
box. The box is in the
shape of a cube and
has an edge length of
8,75 inches. HOW much
paint will Jay need?

8) The Millers have a pool
in his backyard. The pool
measures 42 feet long,
73.5 feet wide, and 6
feet deep. How much
water will fit in the pool?

9) How much gift wrap is
needed to cover a box
measuring 16.5 inches by
12.2 inches by 9.5
inches?

10) A cylindrical fish tank is
12 inches tall. The radius
of the tank is 4.6 inches.
How much water will fill
the fish tank?

11) What is the surface
area of aboxinthe
shape of a rectangular
prism with d length of 6.5
inches, width of 6.5
inches, and height of 4
inches?

12) A shampoo bottle has
a diameter of 4.6 inches
and a height of 8 inches.
What is the volume?




Mixed Review

Round to the nearest hundredth.

1) Simplify.

~2(5x+3y)-2(3x—y)

2) Solve.
—8+3x—-6=-2

3) Solve x+ xy

1
ifx=—,y=2.5
) Y

4) Ben drove 584 miles in
8.2 hours. What was his
average rate of speed?

5} Graph the equation

3

=—x—4
’75

6) Graph the equation

y=—4x+2

7) How do you find the
mean of a set of data?

8) A price decreases from
$986 1o $828.24. What is
the percent change?

?) A square flower bed
needs mulch, which is
sold by the square foot.
If the flower bed has a
side length of 2.5 feet,
how much mulch is
needed?

10) Determine the missing
side length.

11) A dinner bill is $102 and
an 18% tip is left. What is
the total spent on

12} A car rental company
charges $85 plus $0.22
per mile, m. Write an

54m
dinner? equation that represents
e > the total cost, ¢, of
~ renting a car.
16m
13) Write an equation in 14} Solve. 15} A house is 32 feet tall. It
siope intercept form for Dt d4x>5¢—6 casts a shadow that is 45

the line represented by

the points in

the table.

AN TO | X
nlon]oe ] <

feet long. What is the
distance from the top of
the house to the end of
the shadow?
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